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Candidates are required to give their answers
in their own words as far as practicable.

1. Answer any fen questions. 2x10=20

(a) Why is P = AR = MR line parallel to horizontal

axis in perfect competitive market ?
(b) What is Engel curve 7

(c) What is substitution effect ?
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When does cross elasticity of demand become

positive ?
What is an indifference curve ?
What is the expansion path of a firm ?

What do you mean by marginal rate of technical

substitution (MRTS) ?

What is the relationship between AC and MC ?
What is monopolistic competition ?

What is break-even point ?

What is learning curve ?

What is strong axiom of RPT ?

What do you mean by dead weight loss ?
What is Ridge line ?

What is price discrimination ?
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Answer ahy Jfour questions. 4x5=20

(a)
(b)

(c)

(d)

)

Establish the relation between AR, MR and e,..

Show that Price Effect = income effect +

Substitution effect.

Write the assumptions of perfect competitive
market. '

Why there is no supply curve in monopoly
market ? ‘

Distinguish between Walrasian and Marshallian

stability analysis.

(f) What ii crisoner’s dilemma ?

Answer gny (wo questions. 2x10=20

(a) Explain the properties of an isoquant. What
happens if isoquant becomes concave to the
origin ? 8+2

(b) How we get LAC from SACs ? Discuss the
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concept of increasing cost and decreasing cost in

determining the shape of LAC. 6+4
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(4)

(c) What are the equilibrium conditions in perfectly
competitive market ? Discuss short run

equilibrium in such a market. 4+6

(d) Explain how equilibrium price and output is

determined in Cournot duopoly model.
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